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QUESTION 1

When receiving an XML document following the DTD defined by NewsML (portions modified for this question), the
document is processed via SAX programming.

[DTD]
<!ENTITY % localid "™ Duid ID #IMFLIED
Euid CDLTA H#IWNFLIED":

< !ELEMENT MNewaldentifier (NewaItemlId .,
Eewvizionld) >

<!ELEMENT MNewsltemId (#PCDATAL) >

< !ELEMENT RewvisionId (#PCDATA) =

SIATTLIST RewvisionlId Update CDALATL #HREQUIRED >

< !ELEMENT Identification ([MNewsIdentifier):»
<!ATTLIST Identification Ilocalid; >

< !ELEMENT HNewzItem (Identification)>

< VELEMENT NewsML [(MewsItemt) =

Push the Exhibit Button to load the referenced "DTD". When processing the following "XML Document” according to the
method shown by "SAX Processing," which of the following correctly describes the output results (print method output)?
Note that the attribute value is not output for this question.

[¥ML Docwment]

The root element name [(document element name) is "NewsML".

The XML document follows the "DTD" definition.

The XML Document has no document type declaration.

The ZML Document iz comprised of elements, attributes and character dats; comments and CDATL secions, etc. are not
ineluded.

The ZML Document is indented, and includes ignorsbhle white spaces such a=s line feeds and tabs hefare the start-tags.

[S4X Processing]
Use the following "ContentHandlerImpl"™ class, and parse the EML Document using 34X,
Assume no eXecution Errors.

clasz ContentHandlerImpl extends DefaultHandler |
private String elementlagune = "'

public volid star-Element |
String newessaceURI, String looslllswe, String offsans, Attributes stt=)
throws SAXException {
elementName = glame;
F
public vwold endElement |
String nawessacelURI, String localllawe, String oilsme)
throws S3A¥XException {
elementMame = "7}
3
public woid characters(char[] ch, int start, int length)
throws SiXException {

if ([ elewentNeme.equals("") == falae | {
System.out.print (new String(ch, start, length)):

A. All character data of elements can be output, ignorable white spaces are not output
B. All character data of elements can be output, and ignorable white spaces are also output
C. A portion of character data of elements cannot be output

D. No character data of elements can be output

110-002 PDF Dumps | 110-002 VCE Dumps | 110-002 Study Guide 217


https://www.geekcert.com/i10-002.html
https://www.geekcert.com/i10-002.html
https://www.geekcert.com/i10-002.html

VCE & PDF https://lwww.geekcert.com/i10-002.html
2024 Latest geekcert 110-002 PDF and VCE dumps Download
GeekCert.com

Correct Answer: B

QUESTION 2

Push the Exhibit Button to load the referenced "XML Document".

[¥ML Document]

<tns:TestlL xmlns:tns="urn: <mlmaster:ctescml ">
<tns:record tns:level="1" tnsi:data="100" />
<tns:record tns:level="zZ" tns:data="Zs50" />

</tns: TestML:

Choose the XML Schema Document that correctly defines the structure of "XML Document".
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" L. <x3!schema
xwlns:xa="http://vyw.w3 .org/ 2001/ ZMLSchems"
tcargetNamespace="urn:xmlmaster:cestml”
xmwlns:tns="urn:xmlmaster:teatml”>

suzgplpment nawme="TeartWL" rtyne="rtna:testml Tyne" >
<¥3:complexType name="testmlType'>
<¥IrIeqUEnCED
<xg:element ref="tns:record” maxCccurs="unbounded” /=
</ xS isequence:
</w3arcomplexTypes>

<¥g:element name="record” type="tns:recordType" />
<®z:complexType name="recordType':>
<Hs:attribute name="level" type="x=:int" /=
<xs:attribute mame="data" cype="xs:int" />
</xaicomplexTypes

</ w=1schemas

{~ ‘Ri <wararthrma
¥mlns:xs="htrp://wvvw.u3.o0rg/ 2001/ XMLSchema"™
targetNamespace="urn: xmlmwaster:testml”

xwlns:tns="urn: xwlmaster:testml">

<msselement name="TestML" type="tns:testmlTyvpe”™ />
<rg:complexType name="tns:testmlType”>
<¥3: IEQUENCED>
<xsielement ref="tns:record” mwaxOccurs="unbounded” />
</x3isequencer
</xaicomplexType:
<rg:element namwe="record” type="tns:irecorcdType” />

<wa:complexType name="tns:recordType”>
“xe:attribute ref—"tne:level" />

<¥s:attribute ref="tns:data" />
<fxa:complexTypes
<¥grattribute name="tns:levrel" type="xs:int" />
<Hs:attribute name="tns:data" type="xs:int" />
</ xzschemas

€. <xs:rschema
mlns:xs="http://wuw.v3.org/ 2001/ XML Schema”
targetNamespace="urn:xmlmaster:: testml™

xmlns:tns=""urn:<mlmaster:testml”™>

<xa:element name="TestML" type="tns:testmlType”" />
<xs:complexType name="testmlType”:>
<xIiZequences
<¥s:element ref="tns:record” maxOccurs="unbounded” />
</ %3 sequencer
<Jw=rcomplexTypes

<xs:element name="record” type="tns:recordType" />
<rxs:complexType nawe="recordType™:>

<Hg:attribute ref="tns:level' />

<Hg:attribute ref="tns:data" />
<i®scomplexTypes
<xs:attribute name="level" type="xs:int" />
<xs:attribute name="data" type="xs:int™ />

</®313chemaz

" D. <xs:3chema
mlns:xs="http://wuw.v3.org/ 2001/ XNLSchema”
targetNamespace="urn:xmlmaster: testml™

xmlns:cns="urn: xmlmaster:testml”™>

<xs:element nsme="TestHL">
<xs:complexType:
CHO:OCQuUonoo?
<usielement name="record” mwaxOccurs="unbounded”:>
<HsicomplexType:>
<xs:attribute mame="tns:level” type="xs:int" />
<¥s:attribute name="tns:data” type="xz:!int" />
</ u3icomplexTypes>
</ xz1element>
“fxaigequences
</xsicomplexTypes
</¥s:elements>
</ ®3:schemas
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A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: C

QUESTION 3

Push the Exhibit Button to load the referenced "XML Document".

[XML Document] (<
<Infinished xmlns='"urn:xmlmaster: TNFINISHED">
<Listc>

<Morker ¥mlns="urn:xmwlmastcer: TOREKER™
Mo —""JTc L L Worhkhiai " -

<hotivity ¥xmlns="urn:xmlmaster:VISIT™
Code="0002 "=
<DateTimer2004-07-01 13 :00</DateTimer
<Location xXmlns="urn:xmlmaster: CONTLCT -
<MName>John Swith</Name:>
<hddresz>31injukn Ward Tokyvo</ Addreass:
</Location>
<Job Proceduse="Install A.r Conditioner™
Time="z"/ >
e R H:F?CCJI‘T.FL:ETED‘A.-"JL-?:I.L- L= -
< hotivicys
<hotivicy x¥mlns="urn:xmwlmaster :VISIT™
Code="0003 "=
<DateTime>2004-07-01 16:00</DateTime>
<Location Xwmlns="urn:xmlmaster: CONTLCT:-
<MNeme>Een 1iller</Name:>
<hddress>3iibuyva Ward Tokyo</Aiddreas:>
</Locationsr

<Joh Procedu-e="Clean air conditionerc®
L1mE=" s >

<Status>TAITING</3tatus>
<fAotivicys
</ Listyr
</ Infinished:

When processing the "XML Document" according to the method shown by "DOM Processing," which of the

following correctly describes the output results (print and/or printin method output)? Although the expected processing
result is choice "A", processing may not occur as expected.
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[DOM Processing]
Process ZML usiag the folloving method.
prrincEML | doe | ;
The wariable doe here references the Docuwent instarce of the loaded XML Document.
The DQM parser 13 namespace avare.
Azzume no execu-ion errora.

public static wvoid printXML({ Documwent doc | o
Node node = doc.getElementaByTaghamells |
furn:xmlmaster i CONTACT™, "MNewe™) .item (0] :
String name = node.getFirstChild() .getMNodeValue () ;

HNodelList nl = doc.getElementabByTagianeNs ("urn: xmlmaster it VISITY, "Aoctivity™) :

for {(int i = 0; i < nl.getlength(): i—+) 4
Element elem = [(Element nl.item(i):
node = elem.getElementsByTaghameNs |
furn: ¥xmlwaster :VISITY, "DatceTiwe™) .item(0) ;
System.out..arint (Mot Visited:™):
System.out.arint (node.getFirstChild ) cgetlodeValue() ) ;
System.out.arint (" Worker=" 4 name) :
node = elem.getElement abyTagllamells (
furn:¥mlmaster s CONTACTY, "MNewe™) .item(0)
System.out _arint (f, Wi=sitc (") !

Syatem.out.rint (node.gecFirstChild ) .gectlodeValue (] ;
System.out.arintln(™) ™)

A. Not Visited:2004-07-01 13:00 Worker=Jeff Workman, Visit(John Smith) Not Visited:2004-07-01 16:00 Worker=Jeff
Workman, Visit(Ken Miller)

B. Not Visited:2004-07-01 13:00 Worker=John Smith, Visit(John Smith) Not Visited:2004-07-01 16:00 Worker=John
Smith, Visit(Ken Miller)

C. Not Visited:2004-07-01 13:00 Worker=Jeff Workman, Visit(John Smith)
D. Not Visited:2004-07-01 13:00 Worker=John Smith, Visit(John Smith)

Correct Answer: B

QUESTION 4
Which of the following is a correct statement about XML security?

A. To encrypt an XML document using XML Encryption, the XML document must already have been normalized
(normalizationvia Canonical XML, etc.)

B. To attach a digital signature to an XML document using XML-Signature, the XML document must already have
beennormalized (normalized via Canonical XML, etc.)

C. SSL cannot be used as security when sending an XML document
D. To encrypt an XML document using XML Encryption, character encoding for the XML document must be UTF-16

Correct Answer: B

QUESTION 5
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When processing the following "XML Document" according to the method shown by "SAX Processing," which of the
following correctly describes the output results (print method output)?

[EML Document]

<docr<content>East<! [CDATA[ &] ] >West</content»</doc>

[SAX Processing)

Tae the following "ContentHandlerImpl™ class, and parse the XML Document using JAX.

Lzzsume no exXecution errors.

class ContentHandlerImpl extends DefaultHandler |

public void characters(char[] ch, int start, int length) throws S4XException

IJystem.out.print (new 3tring(ch, start, length)):

b
h

A. EastWest

B. EastandWest
C. EastWest

D. East

Correct Answer: B
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